
Additionner et soustraire sans passage par la dizaine 

 

4 8    +     3 1    =  (40 + 30) + (8 + 1) = 79 

                                  70            9 

 

  
           dizaines                           unités 

 

 

 

 

9 7 5     -    4 2 4 = (900 – 400) + (70 – 20) + (5 – 4) = 551 

                                     500               50            1      

 
 

 

        centaines                  dizaines                    unités   

40 + 30 8 + 1 

900 - 400  70 - 20 5 - 4 


